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3inrerpysaru audepeHiiiaibHi piBHsIHHs ab0 3HaAlTH po3B’sa3ky 3aa4d Korri:

(1 —yH)zdz — y(z* +4)dy = 0.
Y = 107+,

2x%yy’ +y? = 3.

- (zy? + x)dz + (y — 22y)dy = 0.
(y+Da+ (z* +16)(y — 3)y’ = 0.
.y 3 In(lnz)dz + ze¥ dy = 0.
.tgy -y =sin(x + y) + sin(z — y).
cayy + /14 2% +y? + a?y? =0.
x4+ 2y+ 1= 2z + 4y +3)y.

Y =Yr+y+1.
.(B3—x—2y)dr —2(1 + =+ 2y)dy = 0.
.y =sin(x — y).

Ly =VAr+2y — L
(y—=3x+3)dx + (3x —y — 1)dy = 0.
YVer+y=1

.y =sin(x + y) + cos(z + y).

2zy?de + (22 — 1) (y* + 1)dy = 0, y(0) = 1.
. wsinydz + (2% — 5) cosydy =0, y(2) = 3.
(23 + Vyde — x(y +7)dy =0, y(1) = 1.
ca?siny + Vad + 1y =0, y(0) = 3.

cxy =yln L

(Y = 2xy)dr + 22dy = 0, y(1) = 2.

2z(y? + 2?)y = y(y® + 22°).

N(zetg? —y)do+xdy =0, y(1) =

. (z—ycos¥)dx + xcos Ldy = 0.

. (2z + y)dz + ydy = 0.

. (32% — y?)dx — 2xydy = 0, y(1) = /3.
cxsindy = (ysin¥ — z) da.

- (2y/xYy — y)dr = xdy.

.xy’—y’:xtg%.

Y =4l
Yy =% +tg¥co
223y = y(202 — o).

(23 = 32%y)dx + (y* — 23)dy = 0.
. (y+ V2?2 4+ y?)dx — zdy = 0.

Ly 4+ 2y =22 + 22,

(I =2zy)y = yly—1).

Y (@2 +1) —ay = (22 — 2+ 1)e”.

y(1) =0.
s2 Y

T

2y _ _sin’az

'ylis' T
(P -
.y +ytgr = xcos? z.

caty 228y = 1.

Yrlne —y=z(lnz —1), yle)=2e.
cy'sine —y =2sin? 2 (g):ﬁ.

in2z = coszx °
6z)y’ + 2y = 0.
2

27

Yy
2%y +y=4, y(-1)=5.
. (22 — 6yt)dy + ydr =0, y(3) =
: (Qd%y2 -z —dyZ)y’ =y -y, y(0)=

Y

Cwhz = graresr Y1) =1
cxy +y==zcosz, y(3)=1
. (22 4+ y)dy = ydz + 41n ydy.
.y —ycosx = y?cosz.

cy = 2xy = 22392

cxdy = (y*Inz — y)da.

@+ +Y?) = .

cy3dr + (23 Iny — 2y?)dy = 0.



56. (ycosx + 2xy?)dx + (sinx — siny + 22%y)dy = 0.
57. 2xydxr + (2% — y?)dy = 0.

58. Ldz + (y* + Inz)dy = 0.

59. (2zsiny — y?sinz)dz + (22 cosy + 2y cosx + 1)dy = 0.
60. Q(ﬁ—kyl%) + (ﬁ—l—ln%ﬂ) =0.

61. (23 + 2y?)dz + (2%y + y*)dy = 0.

62. Zdx + L= dy = 0.

63. (1+e/¥)dx+e/v (1 —a/y)dy = 0.

64. sin(x + y)dx + x cos(z + y)(dz + dy) = 0.

65. 2xsiny — ycosz + Inx + (22 cosy — Iny — sinx)y’ = 0.
66. (2\/3fysimy2 + ﬁ) dy = (ﬁ cosy® + % + %) dz.
67. (xIny — 2% + cosy)dy + (2* + yIny — y — 2zy)dz = 0.
68. (y + 2sinx)dx + (x + 9cosy)dy =0

69. (Sin%—l—:v)d:v—i- (Si‘;#—y)dy:().

70. BV gy = 22 Bu gy

71 2y? = y(2y —1).

72. xy'? — 2yy 4+ x = 0.

73. (zy +3y)?* = Tx.

74. oy (zy' +y) = 292

75. Y2 + 2y = y® + vy

76. (22 — 2xy)y’? + 22yy’ + y? — 22y = 0.

7. 2(y? - 1) =2y

78. x =1 Iny/.

79. y = y'%e¥ .

80. y'Iny’ —y =0.

81. y = 2xy’ + y*y'3.

82. 2zy’ —y =y In(yy').

83. y+ay =4y

84. 2y’ (v +2) = y.

85. y = xy’? + ¢

86. 22y’ —y =1ny'.

87. y = 2xy’ — 4y,

88. y = ay —y'2.

89.y =xy + y,yfl.

90. y = zy ++/1+y2

91. y"" = 4x sin 2x.

2.y = =
Y= T
_ 1

93. y” = 1322

94. v = xy"’ + y”z.

95. 2y +y =% — 1.

96. (y2 4+ 1)y" + 2yy’> = 0.
97. 3y = 1.

98. i =y + 1.

99. 2yy" —y/% = 1.

100. " + 2yy" = 0.



